R7xx v b

x 7 L 4 S70 S100 $450 S510 S510
O P
T SR A3W611~ | ABB411~ | AUVBIL~ | A3NJ11~ | B42S11~
X3 AT BAEA (G B i f b e it
ENE % N Y ETEI 50
NATARY T min | 3125~3175 | 3175~3125 2800 2760~2900 2600
a—7A RY 7 min | 1125~1175 | 1175~1225 | 1125~1175 | 1125~1175 | 1125~1175
" # K ’) §®) (50=+10) (50+10) (50+10) (50+10) (50+10)
(fF 8 1&) (C) (50+10) (50=+10) (50+10) (50=+10) (50=+10)
- OB R
RS B mm 0.145~0. 185 | 0. 145~0. 185 0.4 0.18~0. 22 0.4
v PETr B mm 0.145~0. 185 | 0. 145~0. 185 0.45 0. 18~0. 22 0. 45
Gl & g 1) 4 [ AL 5 [ vl AL
v FEREE A 3% KPa 3.7~4.1 | 3.7~4.1 - 2.9~3.2 -
S EAEE 7 kg/cm® 38~42 38~42 — 30~33 —
v  # K R) (C) NERE % IR % - IR % -
(7] iz 58 JE) (min™) | 200~300 | 200~300 — 200~300 -
PEOEE B | s v o KPa |13.7~14.7 | 13.7~14.7 | £ b= | 18.6~20.1 | ZELL—L
PRERES BR AT ) kg/cn’ | 140~150 140~150 190~205
WA B Ty UL ORRY mm - — — — —
L2 ] Tke] — - - - -
S A XERE | T FRA =L KPa 345 310 525 373 525
kg/cm’ 3.5 3.1 5.2 3.8 5.2
ik U ARA— KPa 345 310 525 373 525
17 kg/cm? 3.5 3.1 5.2 3.8 5.2
g | RA—AF | 7oy hkf—n Nem | 190~217 | 190~217 | 190~217 | 190~217 | 190~217
= ]‘%U*”I‘ kg'm | 19.4~22.1(19.4~22.1|19.4~22.1|19.4~22.1 | 19.4~22. 1
Lo T R v
5 Uik —v Nem | 190~217 | 190~217 | 190~217 | 190~217 | 190~217
kgem | 19.4~22.1(19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22. 1
w7 v B v |EESmOER ;Ti - - - - —
i
Zi ziﬁ‘@% A UIRY f4 1 i - - - - -
m| VAT T | VY =Ty ME KPa - - - - —
U v U R kg/cm® - - - - -
EATT L —F | YLD mm — — — — -
) A mm - - — - -
&) B AE 7] mPAN 5 5 5 5 5
- [l By 3k ] km/h (8.5) (8.5) (8.5) (8.5) (8.5)
@ [BEAT L= | I AR 1/5 1/5 1/5 1/5 1/5
[AfpIRAE] (€3] (41) (€3] (41) (€3]
% /) N

—30—

$530 $530 S550 S550 S570 S570 $590 5590 $630
ATTVII~ | B42T1l~ | A3NL11~ ATUTI1~ | B3GZll~ | ANMNI1~ | B3HI11~ | A3NTll~
i 7 S it fift
2760~2900 2600 2760~2900 2600 2760~2900 2600 2760~2900 2600 2520~2650
1075~1225 | 1125~1175 | 1175~1325 | 1125~1175 | 1175~1325 | 1125~1175 | 1175~1325 | 1125~1175 | 1250~1450
(50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10)
(50+10) (50=10) (50+10) (50=+10) (50+10) (50+10) (50+10) (5010) (5010)
0. 18~0. 22 0.4 0.13~0. 17 0.4 0.13~0. 17 0.4 0.13~0. 17 0.4 0.13~0. 17
0. 18~0. 22 0. 45 0. 13~0. 17 0. 45 0. 13~0. 17 0. 45 0. 13~0. 17 0. 45 0. 13~0. 17
g L g g MRl ML MRl MRl MRl
2.9~3.2 - 3.2 - 3.2 - 3.2 - 3.9
30~33 - 33 - 33 - 33 - 39.8
I % — B % — B % — B % — B %
200~300 - 200~300 - 200~300 - 200~300 - 200~300
18.6~20.1| ZEYL—/b | 18.6~20.1 | 2EL— | 18.6~20.1 | ZEVL—)b | 18.6~20.1 | TEL L=/ | 18.6~19.6
190~205 190~205 190~205 190~205 1900~200
373 525 373 525 373 525 373 525 412
3.8 5.2 3.8 5.2 3.8 5.2 3.8 5.2 4.2
373 525 373 525 373 525 373 525 412
3.8 5.2 3.8 5.2 3.8 5.2 3.8 5.2 4.2
190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217
19.4~22.1|19.4~22.1 | 19.4~22. 1 | 19.4~22.1 | 19.4~22.1 | 19.4~22. 1 | 19.4~22.1 | 19.4~22. 1 | 19. 4~22. 1
190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217 | 190~217
19.4~22.1 [ 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19.4~22.1 | 19. 4~22. 1
5 5 5 5 5 5 5 5 5
(8.5) (8.5) (8.5) (8.5) (8.5) (8.5) (8.5) (8.5) (8.5)
1/5 1/5 1/5 1/5 1/5 1/5 1/5 1/5 1/5
(1) (€:9] (1) €3] (1) (1) (1) (1) €::9)
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shint
ハイライト表示


®T F L 4 S70 S100 $450 S510 S510
TN ]
brbiRER ] A3W611~ | ABB411~ | AUVBIl~ | A3NJ11~ | B42S11~
Ks| MR TR AT BAEA (G B % # b #E fitt
[N mm — — — - —
G|
INNIA mm - - - — —
FZ 4
Bl
AT sty | TA=Y I OREE mm - - - - -
>
g RNy 77— M | Nem - - - - -
B | 24 kg-m
* T4 AT DIEE mm — - - - -
w| |[TART NGy svarTL—])
TL—%
(R |t RORS mn - - - - -
. (6 )
= .
| 575, [ konesr=ry - - - - - -
ALl
L=
1 ;{Lii Ry ROES mm — — — - —
RICES)
YV H =D T4 mm/min 50/15 50/15 50/15 50/15 50/15
EOSR T | [Ny bl | ] (] ] [#] [ [
[1E 8 &) (C) (60=+10) (60=+10) (60 10) (60=+10) (60=+10)
ff YA m/min | 40/15 10/15 10/15 10/15 10/15
[Ny b~offF] | ] (A1 [f] [f] [f] [f]
. [1E B 6D (©) (60=+10) (60=+10) (60+10) (60=+10) (60=+10)
* VB 2 B 38 E | 7 — o RS sec 3.6 2.8 2.6 3.3 3.3
[Ny b~offF] | ] (4] (4] (4] (4] (4]
e [fF B &) (©) (50+10) (50+10) (50=10) (50+10) (50+10)
- Ny ML sec 2.1 1.6 2.0 2.3 2.3
[Ny b~ofaf] | ] (4] (4] (4] (4] (4]
@ [1F #) o 5 (©) (50=+10) (50+10) (50+10) (50+10) (50=+10)
Ny Mg sec 1.7 1.2 1.5 1.7 1.7
[ b ~D ] [ 1] [4] [4] (4] [4] [ ]
[fF B &) (C) (50+10) (50+10) (50+10) (50+10) (50+10)
M JE B | R KPa |7E1) 13800 20700 23097 24476 24476
i’é kg/cm? 140 210 230 245 245
i [fF ® i iR (C) (50+10) (50+10) (50+10) (50+10) (50+10)
YE 1) SMESIE L 20. 6Mpa (210kg/cm?)
i
=

—39—

$530 $530 S550 $550 S570 S570 $590 5590 $630
ANLII~ | B42T1l~ | AUVBI1~ | A3NJ1l~ | A7UT1l~ | B3GZl1~ | ANMNI1~ | B3HIll~ | A3NT1l~
i 7 S it fift
50/15 50/15 50/15 50/15 50/15 50/15 50/15 50/15 50/15
[#] [F] [FH] [#] [F] [F] [F] [F] [F]
(60+10) (60+10) (60+10) (60+10) (60+10) (60+10) (60+10) (60+10) (60+10)
40/15 40/15 40/15 40/15 40/15 40/15 40/15 40/15 40/15
[#H] [H] [#H] [#H] [F] [F] [F] [F] [A]
(60+10) (60+10) (60+10) (60+10) (60+10) (60+10) (60+10) (60+10) (60+10)
3.8 3.8 3.3 3.3 3.3 3.8 3.8 3.8 3.4
[ 48] (4] (48] (48] (4] (4] (4] (4] (4]
(50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10)
2.3 2.3 2.3 2.3 2.3 2.3 2.3 2.3 2.3
[ 48] (4] (48] (48] (4] (4] (4] (4] (4]
(50+10) (50£10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10) (50+10)
1.7 1.7 1.7 1.7 1.7 1.7 1.7 1.7 1.7
(4] (4] (4] (4] (4] (4] (4] (4] (4]
(50+10) (50+10) (50+10) (50+10) (50+10) (50£10) (50+10) (50+10) (50£10)
24476 24476 24476 24476 24476 24476 24476 24476 24132
245 245 245 245 245 245 245 245 241
(50+10) (50=+10) (50=+10) (50=+10) (50£10) (50+10) (50£10) (50£10) (50%10)
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ハイライト表示




